Ch2OUT A1 (Pin 4)
Ch 3 OUT A 2 (Pin 25)
Ch 4 Phase A motor winding current @ 50mA/Div

1. Full step demand for end to end traverse of mechanism.
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[Stopped T 200k3-s 500Msdiv

ax (C2)
13.9583V
req(C2)
41.66667Hz
ax (C3)
13.7506V
req(c3)

41 .66667Hz
ax (C4)
19.1667nV

41.63197Hz

Tz 1671 : ] tHE 1:1 Edge cHd §
5.00 Urdiv 10.0mU div Hormal
OC Full IC Full 10.0nY

2. Expanded view of drive demand / winding current
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[Stopped ZONS/S T SMsAdiv

127 .5066U
req(Cz)

41 .66753Hz
ax (C3)
12.7083V
req(C3)
65.97155Hz
ax (C4)

16 .2560nV
in (C4)

22 .0833nV
req(C4)
41.63180Hz

THZ 10°1 : ] THE 11 Edge CHE £
5.00 Ursdiv 16.0mU div Normal
OC  Full IC Full 1.0mY

3. Mechanism demanded to move 4 Steps.
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ax (C2)

1Z .5006V
req(C2)
61.52426Hz
ax (C3)
12.9162V
req(c3)
61.52407Hz
ax (C4)

20 .0600nY

tHE 1:1 Edge cHd §
5.00 Urdiv 10.0mU div Hormal
OC Full IC Full 10.0nY




4. Mechanism pushed off from static demended positin.
Ch 4 Phase A motor winding current @ 5mA/Div
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Stopped 100MS,s  1MsAliv

Mainz 1M

224 .4442Hz
ax (C4)
16.8333mY
in (c4)
13.7500mY
req(cd)
23.69107kHz

THZ 10:1 : ' CHE 1:1 “Edge CHZ £
5.00 U div 10.6mUsdiv  Normal
IC Full DC  Full .55 U




